. Trig Addition, Half Angle.

cos(A+ B) = cos(A) cos(B) F sin(A) sin(B)

cos(24) = cos?(A) — sin?(A)
cos(2A) = 2cos?(A) — 1
cos( A) =1 - 2sin*(A)
sin?(z) =

cos®(x)

1 — cos(2x))/2
1 + cos(2x))/2

sin(2x) = 2sin(z) cos(x).

. Hyperbolic.
sinh(z) = L(e® — ™)
cosh(z) = L(e” + ™)

. Integration by Parts.
Judv = uwv — [vdu

. Inverse Trig.

% SlIl 1(![') = 11_$2
dcfc tan™ ( ) 1+:02
| #e = s tan™' (%)

. Trig Substitutions.

For va? — 22 use x = asin(d)
For va? 4+ z? use z = atan(f)
For vz — a? use x = asec(f)

. Some integrals.

/tan(x) dx =

/sec(x) dr =

(
= (
sin(A + B) = sin(A) cos(B) % cos(A) sin(B)

In|sec(z)| + C

In |sec(z) + tan(z)| + C



